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Year 8 — Algebra Techniques

Brackets, Equations & Inequalities
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| What do [ need to be able I ords :
: fo do? | 1 Simpify: arouping and combining smiar terms I
| Bythe end of this unit you should be able to: | | Substitute: replace. a variable with a numerical valve :
|« Form Expressons : : Equivalent: something of equal value |
: nggﬂadngﬂij Ii?;ﬁ;:fh brackels | | Goefficent: a number used to mutipy a varisble :
: * Soe equations with brackets : : Pfodnt A Tests : i I
|+ Represent nequates i Highest Common Factor (HCF): the. biggest factor (or number that muttiplies to give a term) |
|+ Fom and soe nequaities | | Iequality: an inequailty compares who vales showing it one is greater than, less than or :
| I 1 equd to another
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: Form expressions ™ Uﬂk“@m Vjﬂabfs Eﬁ‘zﬁef 1 Directed numbers Muttipl single brackets (Ax + 4) |
IS normaiy used N IS p
| More than — GDD || ++ —» + A 4 A K |
| Less than/ differerce — SUBTROCT [ . R . 3 % Brd ~a g % E |
: eg dmorethnt ———> t+4 H o | 8 % E E :
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: Only smilar terms can be. grouped together : : o+ _ X+ 12 :
| eg Find the perimeter of this shape 1 N i K+4 K+ 4 X+4 Different |
|t (Permeter = length around outside of sho«pe)l | ega--dadb- 4 Q] « e 4 [ 4]  revresertatorsof |
a=axa~-bx-05-20 3(x+4) = Gx + 12
Y t,ztIt.;ztw—»Gtg” va-2+-5--3 b Sl :
r ______.___.______.__________________—_h__I e __________'_____': e . . s i e e ::
| Factorise into a singe bracket & +4 : Solve equations with brackets 3 +4)=30 :
I
: Lk 14 T@Mmﬁiﬁ‘ﬁdﬂt :: — 32";'4 — 3+ 4= 30 Expand the brackets :
I
: e+ | :: 11114]):3!)):]4[:[:[4: e I8 2.3 I
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: The two values multiply together (dlso the area) of the rectange : I [T Tx ] x! 0 -1 -1 ?ﬁfgﬁ; Emﬁgﬂﬁmr |
| Note. | : X s fraction or decimal :
| & +4 = 4(;lx+|) B +d = 24x+ 2) | i i x. ox=18
| Thes s factorsed but the |: <] !|6 L] & b x=3 OO I
L HCF hos not been used | L |
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| Simpke. Inequoaties Form and solve inequaities Olgebraic constructs
equal to TR 453, number is greater than || O sentence with @ minimum of two numbers and
one. maths operation
> More thon 2 More than or ” Find the possible range. of values " RS

equal to
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0x3+2=32 v
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I x< 10 Il x =¥ 33— Q2 —» |l a

| Say this out loud I

I\ s & valve less than 10" I k2>l Eel'm

: Note 0> x ” SOIVG

| x<l0and 05K  Swtsotlwd ” § = 3 — g = | dentity
| represent the same 101s more than the, value I _—

| vales

I x+a<a0 ” Check Fori
I my value + 2 is less than or equal to 20° Il This would suggest any value bigger than 3 satsfies the ormu _
| x <8 statement

| e

single. number or variable

statement that two things are equadl

On equation where both sdes have variables
that cause the same answer includes =



